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The question paper comprises of two Sectwns, A and B. You are to
attempt both the sections.

All questions are compulsory

All questions of Sectzon A and all questwns of Sectzon B are to be
attempted separately.

Question numbers 1 to 8 in Section A are one-mark questtons These are to
be answered in one word or in one sentence.

' Questwn numbers 4 to 7 in Section A are two-marks questions. These are

to be answered in about 30 words each.

Question numbers 8 to 19 in Section A are three-marks questions. These
are to be answered in about 50 words each.

Question numbers 20 to 24 in Section A are five-marks questions. These
are to be answered in about 70 words each.

Question numbers 25 to 42 in Section B are multzple choice questwns
based on practical skills. Each question is a one- -mark question. You are
to select one most appropriate response out of the four provided to you.
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SECTION A
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Write the formula used to determine the maximum number of electrons
which a shell in an atom can accommodate.

2. m%%@aﬁﬁémw%aﬁﬁﬁ%mwmwm% S

| Tt v o & = A R 0 1
Why is the progeny always tall when a tall pea plant is crossed Wlth a
short pea plant ?

3, et & SeRfawa 6 oW F @ umevSi H g SEET L 1

List two criteria of measuring the biodiversity of an area.

4. mﬁﬁnﬁaﬁmﬁmmﬁmﬁmﬁmﬁma%ﬂmﬁlﬁﬁ
T | 2

List two preparations shown every month by the uterus in ant1c1pat10n of
pregnancy in humans.

5. f’eﬁ@ﬁrh?ﬁzrﬁwmm%ﬁwm%h~%% 3q U %1 favemw s
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The linear magnification produced by a spherical mirror is — —:;

'Analysing this value state the (i) type of spherical mirror and (ii) the
position of the object with respect to the pole of the mirror. Draw ray
diagram to justify your answer.

6. mm@@m%mmwammm@ﬂm Th
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“T'o discard the household waste we should have two separate dust-bins,
_one for the biodegradable waste and the other for the non-biodegradable
waste.” Justify this statement suggesting the proper way of dlsposal of
these wastes.

7. Sl S e § 2 Sl d B wom 3 e AR S e @
WS 2 |7 38 e i g A | 2

What are fossil fuels ? “Burning fossil fuels may lead to intense global
warming.” Justify this statement.

31/2/3 ' 3 | P.T.O.
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Write chemical equations to describe two examples of different oxidations
of ethanol. List two uses of ethanol.

g T % forg TEmEf T fafe f o g 8 5 3
() s o § Wit TegeeEe e s g 7 |
(i) TIHTSH 3T H 3 Tfeam FEgisH Praie e S @ 2

(i) TS Hifeam % wrer sk e @ 2

Write the chemical equations to show what happens when

1) sodium hydroxide is added to ’ethanoic acid ? |

(i) solid sodium hydrogen carbonate is added to ethanoic acid ?

(iii)) ethanol reacts with sodium ?

freffiea Troft =1 seem Hife fred o @t A, B, C, D, E 3 F A
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;ﬁudy the following table in which positions of six elements A B, C,D, E
_ and F are shown as they are in the modern perlodlc table :

Group :
511) 2 |3-12|13|14|15| 16 | 17 | 18
 Period { \_ | | |
g L0 Al | B | c
3 D ? E | F

On the basis of the above table, answer the following questions :

(1) Name the element which will form only covalent compounds.
(i)  Which element is a metal with valency one ?

(iii) Which element is a non-metal with valency two 7

(iv) Out of D and E, which has a bigger atomic radius and why ?

(v)  Write the formula of the compound formed when B combmes’
with D.

11. ;%&ﬁaﬁmséagmﬁmazssﬁl | 3
6 mgﬁ%wﬁﬁmﬁwﬁaﬁwmsfﬁmawws@e
HifT |- |
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The electronic conﬁguration of an element is 2, 8, §, 1.

@ State its group number and period number in the modern periodic
table. ~

(ii)  State whether this element is a metal or a non-metal.
Give reason for the justification of your answer in each case.

12, “Safewm” i i | “fesee #I wid % aaH :I‘a"f HH«H?H%Q 17
39 Y h HRU Az g il | 3

Define the term ‘evolution’. “Evolution should not be equated Wlth
progress.” Give reason to justify this statement.

13. mwwaméﬁg, aaa&maﬁtwﬁaamﬁﬁ%ﬁmw |
&R i o et Teha i A 3T St et § 3uTfold @i Wﬁ'ﬁtﬁ?ﬁ
o FTa R A | 3

Distinguish between inherited and acquired traits by giving one example
of each. Give reason why the traits acqu1red during the lifetime of an
individual are not mherlted '

31/2/3 | . 5 ' P.T.O.
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On the notice board of ultrasound clinics it is generally stated. “Here
prenatal sex determination and disclosure of sex (boy or girl before birth)
of foetus is not done. It is prohibited and punishable under law.”

(@ List two advantages of imposing ban on Prenatal sex
determination.

(b)  What can students do to educate the society about the following ?
(i) The ill-effects of indiscriminate female foeticide

(ii) Adopting small family norms

15. mmﬁqW%?mamﬁaﬁ@ﬁwltﬂ%aﬁzﬁﬁﬁéw%
'ﬁim,w,m,w,w,%ml

What is vegetative propagation ? List its two advantages. Select two
plants raised by this method from the list given below :

Wheat, tomato, rose, pea, gram, corn, banana.

16. ﬁm@mé;wzocmqﬁw@wmm%aﬁwswa&mﬁm
=R w1 e e e e 2 | T & 3% AR B g W v @
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T | 31 ST 6 9 % fore v R et i | | 3
A student has a concave mirror of 20 cm focal length and he wants to see
an erect image of his face in the mirror. What should be the range of

distance of the mirror from his face ? State the nature and size of the
image he is likely to observe. Draw a ray diagram to Justify your answer.

31/2/3 6
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The image of a candle flame placed at a distance of 40 cm from a
spherical lens is formed on a screen placed on the other side of the lens at
a distance of 40 cm from the lens. Identify the type of lens and write its
focal length. What will be the nature of the image formed if the candle

flame is shifted 25 cm towards the lens ? Draw a ray diagram» to justify
your answer.

18. mﬁwwaﬁ%ﬁmwmwmaﬁn | Ik T
m@ﬁaﬁv@wﬁﬁwwﬁmlw%ﬁw%mm‘
ﬁmﬁﬁ@wl ; . 3

Draw a labelled ray diagram to show the formation of rainbow in the sky
 giving brief explanation of the phenomena involved at each stage. List
two conditions necessary to observe a rainbow. '

19. ‘mﬂg@mﬁwaﬁqﬁ%?“mq@wﬁwmaﬁmzﬂﬁaﬁ
R mHEE ARG s dte ) | . 3

What is meant by food chain ? “The number of trophic levels in a food
chain is limited.” Give reason to justify this statement.

20. ferell <ig I mﬁwm%?sﬂ% S meaﬁtwﬁtrﬁwm

. HEmy
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What is meant by power of a lens ? Name and define its S.1. unit.

One student uses a lens of focal length +50 cm and another of —50 cm.
State the nature and find the power of each lens. Which of the two lenses
will always give a virtual, erect and diminished image irrespective of the
position of the object ?

sipls .7 | | P.TO.
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 What is myopia ? List two causes for the development of this defect. How

22.

: 230

can this defect be corrected using a lens ? Draw ray diagrams to show the
image formation in case of (i) defective eye and (ii) corrected eye. ‘

st w1 2 3 2 e e @ R Bt o i A e
AehTE U TH T IeET A o e A | f T Sere & e A
) T 1 A Gt T I HT Y HIT |

What are. hydrocarbons ? Distinguish alkanes from alkenes and each of

them from alkynes, giving one example of eaich. Draw the structure of
each compound cited as example to justify your answer.

(a) Wm%w‘mw:{mﬁﬁ@qéﬁmaﬁwmamgﬁﬁ
=1 g7 off wr € | g gl % sl R | |

D) wwwéﬂ%m-mwmw%ﬁgqaﬁm ¢) Fi=m aen
y (n)ﬁ&f%asm%mmﬁm%lgwﬁmésW%sﬁmW
5T YR ITH BT @ 2 Ees | -

@ Name the human male reproductive organ that produces sperms

24.

and also secretes hormones. Write the functions of the hormone
secreted.

(b) Name the parts of the human female reproductive system where
(i) fertilization and (ii) implantation occur respectively. Explain
how the embryo gets nutrition inside the mother’s body. ‘

mwﬁ@ﬁﬁwﬁtmwﬁﬁfﬁﬁ%qmﬁ&ﬂuiﬁw
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List in tabular form the two dlfferences between asexual and sexual
mode of reproduction. Name and explain with the help of labelled
diagram the process by which Hydra reproduces asexually. '

8




25,

31/2/3

T g
SECTION B

%&ﬁm%m %%ﬁﬁ)%wwﬁmm@%mwﬁs:ﬁ%m
T[Qﬁﬂ‘mfﬁﬁ‘i\'%ﬂ:“ /

8 CISRE

I e

I FEE

Tt e T AT | — A 1

() LI
®) I IRV
(€ I IIANIV
D) LRIV

A student observed an embryo of a red kidney bean and identified four
parts in it as

1.  Cotyledon
1L Plumule

III. Radicle

IV. Tegmen

The correctly identiﬁed parts are
() Liamanmn
@) II,IIandIV
() ILHlandIV
M) I, HandlV
9 . P.T.O.
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(A) IaﬁIII

(B) IISRIII

(©) IHIRIV

(D) MHORIV

Study the following conclusions which were drawn by the students of a
class on the basis of their observations of available/preserved specimens
of plants and animals, and select the correct conclusions :

L

IL.

I1I1.

Iv.

Thorns of citrus and tendrils of cucurbita are analogous structures
in plants.

Potato and sweet potato are analogous organs in plants.

Wings of insects and wings of bats are analogous organs in
animals.

Wings of insects and wings of birds are homologous organs in
animals. ” ‘

The correct conclusions are

(A
(B)
(©)
(D)
- 31/213

I and II
11 and III
I1I and IV
II and IV
10
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(D) T SR R

You have a jute bag full of vegetables such as carrot, ginger,'potato, sweet
potato, radish, tomato, cauliflower, etc. Identify two vegetables to
represent the correct homologous structures.

~ (A) carrot and potato

(B) potato and tomato
(C) potato and sweet potato
(D) radish and carrot

e @ qpert i Sl & IR § frafafes ol 1 srer Hife

1 '@am%w&ﬁqmﬁm% l
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(A) I I13RII | |

B) ILIIARIV

(© LIIARIV

® LIV
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Study the following statements ébout the process of budding in Yeast :
I A bud arises from a particular region of a parént body.

II.  The parent cell divides into two daughter cells, here the parental
identlty is lost. :

IIL Before detachmg from the parent body, a bud may form another
bud. ' '

. IV. A bud when detaches from the parent body, grows into a new
individual. ' '

 Select the correct statements :
(A) 1T andII

~ (B) ILIII and IV
(©) 1,711'1 and IV
D LllandIV

29, mﬁ%%%%ﬁwﬁw%mwﬁmﬁm'w% |
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A ILILIL VIV

(B) ILV,ILILIV
(© ULLIV,IV

, D) ILI,V,ILIV
31/2/3 » ' - 12




After ‘obvs,erv‘ing various slides showing different stageks of binary fission
 in Amoeba, a student draws the following diagrams. However, these
diagrams may not bg in proper sequence.

1 -0 I v v
Idéntify the correct sequence of the above Stages.
(A mHivIvV
B) ILV,ILLIV

(© uLLILV,IV
D) oL I, V, LIV

ﬁémﬁs&ﬁ_wmﬁﬁa}%ﬂng@mﬁz%waﬁ@@w

wwq4—5?@@rﬁwmzﬁm%la€wﬁmm%?(@
@) e g s e A e R

(B) TEF it s e % gogd feed ®

©) & JegEEe gy yet feeear v .
(D)‘?@?ﬁaﬁwﬁ'%ﬁﬁmﬁzﬁmaﬁmﬁqwﬁ%mam

A student takes a small quantity of sodium hydrogen carbonate powder
in a dry test tube and pours 4 — 5 drops of ethanoic acid over it. What will
he observe ? (Select the right option)

(A) Evolution of a colourless gas with pungent’smell

(B) Bubbles of a colourless and odourless gés

© Evolutioh of brown fumes along with a brisk effervescence

(D) Evolution of a colourless gas which burns with a pop sound when a
~ ‘burning splinter is brought near it *

31213 13 . | P.T.O.
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31. <R IHI P, Q,Ra:ﬁts ﬁqﬁm@m%mﬁxﬁwaﬁmﬁmaﬁ%
aﬁﬁmﬁr@awﬁﬁﬁaﬁm

. Wy ENRREC VDG
| 9 St i Tasofta
P Vi x| o J
Q X v X o
R X v v X
S J X v X
Sﬂﬁ@mm%ﬁzmmﬁwvﬁ‘%? | 1
4 P |
B Q
© R
D S

Four students P, Q, R and S studied the properties of ethanoic acid and
reported their observations in the following table : '

: Odour Miscibility with water
Student | Like Like Fully | Partially
Vinegar | rotten egg | miscible | miscible L
P v X X ‘o |
Q x | U x o ‘
R X J v X
S v X v X
The éorrectly reported observations are of
(A) P '
B Q
C) R
(D) S

31/2/3 . 14
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(A) L IISRII

® I, IIsRIV

(C) III, IV 3R1

D) LIIRIV

When you prepare 20% sodium hydroxide solution in a beaker containing
water, then while preparing the solution you record certain observatwns

Select from the following the observations which are correct :
I Sodium hydroxide is in the form of pellets/ﬂakes.

II. It dissolves in water readily.

III. The beaker appears cold when touched from outside immediately
after adding sodium hydroxide to water.

IV. When red litmus paper is dipped into the solution, it turns blue.
(A) I,IandIII |

(B) I, IIandIV

() WL, IVandI

(D) LIandIV

31/2/3 | . 15 ' P.T.O.
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(B)  reduce the basic nature of the soap
(C) enhance the cleansing Power of the soap
D) favour the Precipitation of soap

(4) P3Rrq
B) Q3kr
(C) RaRks
M) P, Qsks

(A Pang Q
B Qandr

(©) Rands
D) P, Qand S

3123
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A student has obtained a highly dlmmlshed image of the Sun on a screen
using a convex lens. In order to determme the focal length of the lens,

what should he measure ?

(A)
®)
©
D)

Curvature of two surféces of the lens
Aperture of the lens
Distance of the screen from the Iené

Radius of curvature of two surfaces of the lens

i T T B % IR AE % R we S e @ S T T
forTor &1 Uy mfgd ot laﬁ@m%ﬁwwm%aﬂm%%ﬁ‘fg

g forsehd Femrel o6 e oo

(A) Teg ST foRtor % =R B B

(B) Hea Afaq foor o T Bt @

(C) Hea 3yudfeid om0l o FHI=R el &

D) wmmﬁmawmm@m%

A student traces the path of a ray through a glass prism for four different
values of angle of incidence. On analysing the diagrams he is likely to
conclude that the emergent ray

(A)

(B

(6)
(D)

317213

is always parallel to the incident ray
is always pérpendiculai' to the incident ray
is always parallel to the refracted ray

always bends at an angle to the direction of incident ray

18
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A student used a device X’ to obtain the image of a well illuminated
distant building on a screen ‘S’ as shown below in the diagram. Select the
correct statement about the device X’ :

(A) The device X’ is a convex lens of focal length 10 cm.

(B) The device X’ is a convex mirror of focal length 10 em.

(C) Thedevice X’isa concave mirror of focal length 10 cm.

(D) | The device X’ is a convex mirror of radius of curvature 10 cm.

17 . : - P1o.
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for T R | 1
E §
, i
A 1
B) II
() I .
® v ' ,
Consider the following traces of the path of a ray of light passing through
~ aglass prism. Identify the diagram which shows the correct path of a ray
of light. v '
| ,
@A I ‘ : o f
L (B) I y,
() I
; o IV
31/2/3 | ~ 19 . PTO.
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@) 233
® 234
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D) 33Rs

Out of the five incident rays shown in the following diagram, identify the
two rays that are not obeying the laws of refraction and as such we
cannot use them for illustrating the image formation by convex lenses.

(A) 2ands3
(B) 2and4
(©) 2and5

(D) 3and5

3123 L 2
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A student was given a convex lens of focal length 12 cm by his teacher .
perform the experiment, “To find the image distance for various object
distances in case of given convex lens.” He performed the experiment

methodically observing all possible precautions and noted down his

observations in tabular form as given below.

S. No. | Object distance (cm) | Image distance (cm)
: 1 : - 60 15

2 48 0 16

3 36 .9

4 24 24

5 | 18 4 36

6 16 48

While checking, the teacher remarked that in one of the observations the
image distance has not been recorded carefully. Identify the serial
number of that observation.

A 2
B 3
) 4
D) 6

(A)  (30° 45°, 60°) 3 2 em
(B) (30 45° 60°) 3T 8 cm
(©)  (25°50° 75° 3R 6 cm
(D)  (25°% 50° 75° 3R 12 cm
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For tracing the path of a ray of light through a rectangular glass slab, the
best choice for the values of angle of incidence and the distance between
the feet of the two pins is | |

(A) (30°, 45°% 60°) and 2 cm

(B) (30°, 45°, 60 and 8.om

(©)  (25°,50°, 75°) and 6 cm

D) (25° 50° 75° and 12 cm
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(A) Li=dLe<Zr | '

(B) <Li=Le>ZLr

(C) Zi>ZLe>[Lr

D) ZLe>Zi>sr

A student traces the path of a ray of light through a rectangular glass
slab for four different values of angle of incidence. He observes all
possible precautions while fixing the pins and also while measuring
different angles. On analysing the measurements he is likely to draw the

_following conclusion :

(A) JLi=Le<Zr
(B) Zi=Le>ZLr
© <Zi>Ze>Zr

D) <ZLe>Zi>Lr
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